AQA GCSE Unit 2 Getting Around Worksheet

1. Listen to the passage A and select the correct reply.

1) Where does the speaker live?
A. suburb
B. seaside
C. downtown

2) Thereisn'ta near the speaker’'s home.
A. tube station
B. post office
C. cinema

3) Which place does the speaker not go often?
A. cinema
B. post office
C. bank

4) It's convenient near the speaker’s home.
A. true
B. false

5) The gym is very close to the zoo.

A. true
B. false
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2. Listen to the passage B and select the correct reply.

1) When will the speaker go to the UK?
A. inJuly
B. next week
C. next month

2) What kind of transportation does the speaker prefer?
A. car
B. plane
C. train

3) What does the mother think of the speaker’s suggestion?
A. Itis expensive.
B. Itisinconvenient.
C. Itis uncomfortable.

4) What is the mother’s suggestion?
A. to go by plane
B. to go by coach
C. to go by train

5) Why does the father like going by ship?
A. because it is cheap
B. because it is comfortable
C. because he would like to see the sea
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3. Select the correct answer to fill in the blanks.
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4. Read the passage below and answer the following questions.
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1.
Why is the father against going by car?

_'Because it is expensive to park a car in the city centre.
_'Because it is not convenient to park a car in the city centre.

' Because the father doesn't want to drive.

2.
Who are against going by bus?

father, elder brother, elder sister
father, elder sister, author

_elder brother, elder sister, author

3.
Why is the elder sister against going by tube?

" Because the tube is always crowded.
Because the tube is not fast enough.

. Because the theatre is not near to the tube station.
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4
What is the speaker's suggestion?

' First drive to the tube station, and then take the tube. After that, take a taxi.
_'First take a bus to the tube station, and then take the tube.
First walk to the tube station, and then take the tube. After that, take a taxi.

5
Why do they all like the speaker's suggestion?

_'Because it's fast and convenient.
Because it's convenient and cheap.

’Because it is not only fast and convenient, but also economical.
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5. Translation

1) The bank is behind the post office.

2) Your home is to the right of the shop.

3) The factory is in front of the supermarket.

4) Where is the supermarket?

5) I go to the city centre on Sunday morning at 10:00.

6) HREALFR?

7) BN AEAEDG?

8) REMS EF R A

9) ey R A AE LM ?

10) K2 A2EME?
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